
Heinrich-Mann I 9 2

Röntgen 4 0

Platz Clay II 6 0

Heinrich-Mann I 2 : 0 2 : 0 2 : 0 2 : 0 39 : 7 8 : 0 4 : 0 1 Kepler 11 2

Röntgen 0 : 2 2 : 0 0 : 2 2 : 0 29 : 25 4 : 4 2 : 2 3

Clay II 0 : 2 0 : 2 0 : 2 2 : 0 17 : 36 2 : 6 1 : 3 4 Heinrich-Mann I 8 2

Kepler 0 : 2 2 : 0 2 : 0 2 : 0 31 : 27 6 : 2 3 : 1 2 Campus Efeuweg II 2 0

Campus Efeuweg II 0 : 2 0 : 2 0 : 2 0 : 2 14 : 35 0 : 8 0 : 4 5

Röntgen 9 2

Clay II 5 0

Teilnehmer 1:

Kepler 8 2

Teilnehmer 2: Campus Efeuweg II 7 0

Teilnehmer 3: Heinrich-Mann I 11 2

Clay II 0 0

Teilnehmer 4:

Röntgen 3 0

Teilnehmer 5: Kepler 11 2

Clay II 6 2

Campus Efeuweg II 5 0

Kepler 1 0

Heinrich-Mann I 11 2

Campus Efeuweg II 0 0

Röntgen 13 2

4. Platz

Kepler Clay II

5. Platz

Campus Efeuweg II Campus Efeuweg II

2. Platz

Röntgen Kepler

3. Platz

Clay II Röntgen

Heinrich-Mann I Heinrich-Mann I

Jeder gegen Jeden (5A) 
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